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PCXj all Xj c am Ime PlXo al re It lined

a let pm be the nectar with entries p i PAj ai

Shat that
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this is just the following formula in matrix
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Ej such Alet

Ij At Ij e t E j 70

Find it mean and covariance matrix

Define

Ej Ij At Ij
Et E ET I AT Et Ija p Atpi e O

EI Ej Ej Et I At Ij c Ij AI Ijet
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Et At Ij.FI A
Et At Ij It Et At Ij e Et II 18 Xie c

By the computations in we can deduce
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Et It It x At Ij c
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and hence
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Et At Ij e It A At Et Ij II e A
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min ht Ij
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Ij É TI ft
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where Ej is such that
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e what would be the estimate af ETget 1h

for any g
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In particular I É TX I ft
Nate that g Xj

even for nonlinear g
can be

writer as a linear combination of the components

of Ij i.e

g Xj EI g ai 1
expat g Ij

Uhm g in the
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therefore

gift Étgex 1h Et gt1 1h
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